Time allowed: 45 minutes

PRACTICE PAPER

Maximum Marks: 200

General Instructions: As groen in Practice Paper — 1.
Section-A

Choose the correct option:

1 2 3 4 5 =9
1. IE;-*I-[_1 5 ?]de—SBI[I 2 3Ithenﬂlsequall-u
1|=2 =1 15 21 =15 2 =1 15 =112 1 =15
'["'}EIE. 8 -11I ®) l5 -8 -11] (©) l5 8 11] @ 35 = -11]
41 1 5
2. The value of the determinant |79 7 9|is
29 5 3
) 1 (b =1 () 0 (d) Mone of these
R ]
3 IfA=|0 2 5|, then A™ exists if
1 1 3
(@) =2 (b) »#2 (c) L # =2 (d) None of these
4. If filx) = log x then f"(1) equal to
1
(a) 1 (b) 0 @ 5 (d) -1
5. The tangent to the curve given by x=¢'.cos t, y=¢".sintatt = 2 makes with x-axis an angle of
T T LS
(a) 0 Uy © 3 d) 5
6. Integration of ‘! e dx is
: o 0 1+e™
T -7
@ 7 0 -
(c) tan™'e = % (d) None of these

7. The value of ftansxsec'x dx is



12

13.

1 g B )

@) taTl.t+tarqm.t+E (b) tat;x+tagx+c

tan®x  tan'x tan''x  tan®x
{.:}S+4+c {d‘}]l+3+t
The value of J'% is

2sin“x+5c08"x .
f2

(a) ]—tan"[ﬁtanx]ﬂi ib) fl tan™!| < t,anxli{

V5 ¥ 10 ¥3

i i

V2 | ¥2tanx 1 -1y
i) 5 tan G +C {d) -..’rll]mn [V2tanx]+C

1 (x* + sin x)dx
The value of |, BT is equal to
(@) 2=-m b)) m=2 (€} 2-m/2 {d) none of these
The area of the curve y = sin ¥ between 0 and « is
(@) 2 sq. units (b) 4 sq. units (€) 12 sq. units (d) 14 sq. units
dz

The degree of the differential equation If + BT = ) jg
(@) 0 (b 2 (0) 1 (d) Not defined
The general solution of %-l- ay = " ig
(@) m+a)y=e" +k™ (b)) y=" +k (©) y=¢ +k {d) None of these

A= D=SmMI—->>=

Feasible region is the set of points which satisfy
(i) the objective functons
(c) all of the given constraints

(b) some of the given constraints
(d) Mone of these

The mean of the numbers obtained on throwing a die having written 1 on three faces, 2 on two faces and 5
on one face is

(a) 1 (b) 2 £) 5 (d) 8/3
Suppose that two cards are drawn at random from a deck of cards. Let X be the number of aces obtained.
Then the value of E(X) is

(a) 37/221 (b) 5/13 {c) 1/13 (d) 2/13

Section-B (B1)
Let R be a relation on A = {a, b, ¢} such that B = {{a, a), (b, b), (¢, c)}, then R is
(1) Reflexive (b) Symmetric only
Let A =112, 3}. Then, the number of relations containing (1, 2) and (1, 3) which are reflexive and symmetric
but not transitive, are

(¢) Non - transitive (d) Equivalence

() 1 (b) 2 () 3 (d) 4

Let A= R={3} and B = R - {1}. Consider the function f: A — B defined by fix) -(ﬁ} then f~'(x) equals
Jr=2 Jx=12 3x+2 Jr=1

() r_].l'?” (b) +].I?9-1 (€) 1_1;1?51 (d) -3 X742

Let ® be a binary operation on I givenbya®b=a + b then (2" 3) * 4 is equal to

(@) 9 (b) 5 ) 7 (d) &
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26.

27.

29,

Let f:R R defined by f(x) = 2x* + 2x* + 300x + 5 sin x then f is
(i) one=-one onbo (M) one-one into

() many one onto (d) many one into

3 3
(a)0 w I 0 = @

The value of cns"{cnss—x}i' sin™ (sins—“} is equal to

r.a|§

The value of sin"(%)-l- 2 tm"(%} is equal to

3 At 3 n
(a) tan™ { } {b) tan {3} (©) tan™ v @ 3
\-1 —sinx *+/1+sinx
cot™ - is equal to
y1=sinx=y1+sinx
(@) T=2x (b) 27 =x € = @) ===
2 2
1 2 1 1-y
Simplified value of the expression tan{—sin™ +—cos™ is
2 1+x* 2 1+y°
ity x+y ] — —
(a) Ty (b) o (c) xy (d) xvl1=2"#+yy1=2"
? 12 4 + is equal to
9 2 1 “d
45 4+ 43
@ | o o) © |5l @ |5
Read the following statements.
Statementl : Each diagonal element of skew-symmetric matrix is zero.
Statement I : ldentity matrix is not a skew symmetric matrix.
Choose the correct oplion:
(1) Statement 1 is correct but statement I1 is not correct.
() Statement 1 is correct but statement I is not correct.
(r) Both statements [ and 11 are correct.
(d) Mone of these
For any two square matrices A & B, |A| =2 & |B| =6 then | AB| equals
(1) 2 b & ) 12 {d) none of these

If the value of a third order determinant is 12, then the value of the determinant formed by replacing each

element by its cofactor will be
() 12 (b) 144 (c) =12 (d) 13
If flx) =|cosx=sinx| then f{%) is equal to

(y3+1) 3
: 5 (B L

(v3=1)
(c} 3 {d) none of these




3L
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i
For the curve ,/x + /y = 1, Eyat {%,%} is

{a) 1 (b) -1 ) O (d) 2
sinx .
The function flx)={ X *eosx,ifx#0 is continuous at x = 0, then the value of k is
k ,fr=0
{a) 3 (k) 2 () 1 {d) 1.5
x+1 Vx=1 dy
If -m“(T )+sin"( - }then—ise ual to
v va=1 Va+1 de 1
(m) 1 (b) = () O (d) =1
x x
= = =
If fix) sinxand glx) hll.II..'lm‘]'u-ﬂ!l}-u:::'_1,, then in the interval

() both f{x) and g{x) are increasing functions.
(b) both f{x) and g{x) are decreasing functions.
{c) fix) is an increasing function.

(d) g(x) is an increasing function.

The value of Imsx:nshmsax dx is

1 sin2y  sindr  sinbx 1 sin2y sindy sinbx
{ﬂ}4:+2 *=3 *tT ¢ +C {h};r-z Y~ e +C
() x+ Si‘;h + 51'1” + """:"‘ +C (d) x—sin2x +sindy +sin bx +C

3@1_59'“_' x =X
IEJ‘W#_‘E ilt'+blﬂ3|4£ + 5e |‘|'C‘. then

=] 7 1 7 =1 -7 1
{ﬂ}ﬂ-?,b-g 3] ﬂ'-gi’-g ) a= S.E’-? i) H-E,lf
If glx) = cos*t dt, then glx+ ) is equal to
() glx)=gix) ) gix).gin) () glx) (d) gx) +g(n)
The area bounded by the curve y* = 4x and the circle x* + y* = 2x = 3 = 0 is equal to

8 ) 8 .
{a) [Zn:+i]sq. units. i (4E+i)sq' units.

B ) 8 .

ir) [n:-rg}sq. units. (d) (H-E}sq_umls_

The solution of differential equation % =Y 42eY s

(@) y=e* ¥ =x¢¥+C ib) e—"'-er=§+l::
3
(©) e‘+e¥=x?+c () f-e’=§+c

The differential equation of system of concentric circles with centre (1,2) is

dy dy
(@) =25+ x=-1)=0 (b) y—o-*x=0

A== =S mMI-—->=
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{c) %+I=ﬂ id) None of these

—_ -

If E,F,F are three non-coplanar wvectors and . ,F are reciprocal wvectors of them, then

(Ia +mb +nc )-(Ip + mq + nr ) is equal to

@yl +m+n by P+nd+a’ ©) P+ +n® {d) MNone of these
The locus of a point equidistant from two points whose position vectors are a and b is
= ] — = — — — —_ == il
{a) {r-Ef.ﬁ+b}}-|{b-ﬂ}=l} () {r-(a+b)}-b=0
(©) {?-%EHF}}-E:{J () IF-%EE-F}}-{E+E}={J
The number of vectors of unit length perpendicular to vectors a=5i+ 6] + 0k and b=6i+ 57+ 0k is
(a) 1 (b) 4 c) 3 (d) 2
The value of A-{(E+C)x(A+B+C)} is
(m) 0 () [AECIEC A]
(© [ABC] @ Ax(ExC)

If the line drawn from a point (<2, <1, =3), meets a plane at right angle at the point (1, =3, 3), then, the equation
of the plane is

(a) 3x =2y +6z=20=10 (b) 3y + 2y =5z=5=0
()r+2y+z=4=0 (d) 3x =2y +hz=27=10

The y=coordinate of a point on the line joining the points 3 (2, 2, 1) and R (5, 1, =2} is 4, then its z-coordinate
is

(o) =1 () O fc) 1 (d) 2
-
The distance of a point { = 2, 4, =5) from the line 1;3 = H'E == ;3 is
= F
W7 f15 N 137
(i) BN (B Vv () v 10 (d) Mone of these

The angle between the lines whose direcion cosines are given by the equations 31 + m + 5n = 0 and
6 it =2 sl + 5 It = 0 is

vor(d)  weld)  oed) e

If P(A) = 1/2, P(B) = 0, then P(A/B) is

(@) 0 (b) 142 () not defined (@) 1
If A and B are events such that P{A/B) = P{B/A), then
(@) ACBbut A#B (b) A=B () AnB=4¢ (@) P(A)=P(B)

If A and B are two events such that A C B and P(B) # 0, then which of the following is correct?
P(B)

{a) PHIBFW

(b) P{A/B) < P(A) (c) P{A/B) = P(A) (d) none of these



